2-3 клас Англійська мова
https://meet.google.com/ziv-yjjv-myp
2 клас
Тема уроку «Що вдягає Люк?»
1. виконати завдання
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3 клас
Тема уроку «Діагностувальна робота №6»

[bookmark: _GoBack]Friday, the third of June
Обрати правильний варіант
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Task 3
Дати відповіді на запитання
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i @20 Look at the pictures and name the seasons.

Then, answer the questions.
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1 What months are there in winter?

2 What months are there in spring?

3 What months are there in summer?

4 What months are there in autumn?

Listening and Speaking

( Task ) Listen and tick (\/ ) the correct variant.
Then, tell your partner what you usually
do in each season. Name your favourite
season and tell him/her why you like it.

1 In winter the weather is ....
D a) hot and sunny
D b) cold and snowy
D ¢) warm and windy
2 In winter Cindy ....
D a) celebrates Easter and rides her bike
[:] b) goes to the seaside and swims a lot
[:] c) makes snowmen, skis and skates
3 In spring the weather is ....
[:] a) warm and windy
D b) cold and snowy

[:] c) chilly and rainy
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It is sunny. The trees are
green. | can jump and run,

match. MNpoyuraii Ta g'egHaii,

It is raining and cold.
The trees are yellow, red
and brown. | can watch TV.

[ It is cold and snowing.
The trees are white.
| can ski and skate.

/It is hot. The trees are green.

| don’t go to school.
| can swim and ride a bike.
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HELLO, SPRING!

Grammar and Vocabulary

Tick (\/ ) the correct variant. Then, make your
sentences with There is/are, There isn’t/aren’t.

1 There ... some toys in the box.

Da) is [:]b) are

2 There ... a cat on the sofa.

[:]a) is [:]b) are

3 There ...any milk in the fridge.

D a) isn’'t D b) aren’t

4 There ... any birds in the tree.

[:] a) isn’t D b) aren’t




